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2017 2 4

2 4 302 (4 1 )
2 1052 3 1050 4 920
2017 4 1 2017 5 31

2513
2 917 3 829 4 767
83.2%"
2 87.2% 3 79.0% 4 83.4%
2016
"1 5 2 4 1 8
1. 23
2012 2013 2014 2015 2016 2017
80.2% 80. 4% 84.4% 84.7% 82.8% 83.2%
2 3 4
2 1
p
n? n? Cohen(1988) n’=.01(small), n’= .06

(medium ) and n?= .14 (large)



% (n) % (n) % (n) % (n)
22.5(552) 67.5(1656) 9.1(224) 0.9(23) /
20.7(509) | 64.8(1592) 12.5(306) 1.2(30) 0.8(19)
30.3(743) 59(1448) 9.1(223) 1.1(28) 0.6(14)
57 58
=4
=1 3
M=3.12,SD=0.547, =4, 1 a =.87
3
3.27 0.56 109
3.15 0.51 233
3.12 0.54 311
3.22 0.54 210
2.96 0.58 345
3.12 0.57 183
3.10 0.55 134 n'=.024
3.20 0.47 221
3.17 0.51 261
3.11 0.55 244
2.99 0.59 97
3.09 0.60 86
3.12 0.55 2434




1°=.024
4
2 3.03 3 3.11 4 3.24
n’=.026
n’=.023
1
My =.021 My = .002
2 3.03 0.55 898
3 3.11 0.51 793 n°=.026
4 3.24 0.56 743
1 3.24 0.54 704
2 3.13 0.51 442
n°=.023
3 3.09 0.54 467
4 3.03 0.56 798
4.0
3.9
3.8 -e -2 *-0--93 —e—
3.7
3.6
35
3.4
o
3.3 T,
3.2 -G — .__\c °
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M=2.82

GD 4 4

20% 40% 60% 80% 100%
1
N=2.74,
o =.88)
5 M=2.56
n?=.017
6



n?=.015

n’=.007
2.76 0.55 112
2.79 0.50 227
2.66 0.48 304
2.79 0.46 208
2.73 0.49 342
2.77 0.51 183
274 0.47 130 n'=017
2.82 0.44 217
2.79 0.49 254
2.66 0.47 243
2.66 0.47 96
2.56 0.50 84
2.74 0.49 2400
2 2.71 0.48 885
3 2.68 0.48 778 1°=.015
4 2.82 0.49 737
1 2.79 0.50 697
2 2.73 0.47 441
n?=.007
3 2.74 0.48 458
4 2.69 0.49 782




ny= .015 n,’= .006
np°=.002

3.5
3.4
3.3
3.2
3.1
3.0
29 —
2.8 '_ ——

27 .....-.:.:.: — — — —k —

— =2 *-9--03 ——1

2.6
25
24
2.3
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1 4 14
+ 7
(76.7%) 74.1%
73.8%
50.0%
7
| | | | | | | | | |
0% 20% 40% 60% 80% 100%
4 1
14 1
14 (M=2.80, SD=.463,
=4, =1, o =.930)



n?=.004

7
2.75 0.52 112
2.83 0.49 221
2.82 0.44 299
2.85 0.48 207
2.80 0.45 343
2.81 0.49 183
277 0.46 131 n'=.004
2.81 0.41 216
2.81 0.49 252
2.78 0.43 242
2.82 0.44 95
2.70 0.46 84
2.80 0.46 2385
8 2
n’=.034
n?=.005
8
2.76 0.47 880
2.74 0.44 773 1n?=.034
2.93 0.45 732
1 2.85 0.48 701
2 2.79 0.45 437
n?=.005
3 2.82 0.43 451
4 2.76 0.48 775




np2= .001

ny'=.031 n,*=.005

3.5
3.4
3.3
3.2
3.1
3.0
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25
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77.1%
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2 77.7%,76.3%
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13 =4 =3
=2 =1
9
2
F1 F2
a =.89
.846 -.126 0.578
.761 -.058 0.519
.758 .043 0.624
751 .076 0.652
.528 192 0.461
.510 .286 0.553
421 .336 0.494
317 .235 0.263
a=.85
-.142 .933 0.700
-.052 .831 0.632
121 .605 0.486
.248 532 0.535
.161 .507 0.401

721

11



1 (M=2.89,
SD=.478,0 =.885) 2 5
(M=2.81, SD=.533,0 =.850)
10
n’=.018 n’=.010
10
2.88 0.48 2.72 0.6
2.93 0.51 2.82 0.56
2.89 0.48 2.8 0.53
3.03 0.44 2.86 53
2.91 0.46 2.83 0.51
2.88 0.49 2.86 0.57
2.79 0.45 n?=.018 2.77 0.54 n?=.010
2.94 0.42 2.85 0.51
2.89 0.49 2.84 0.55
2.85 0.49 2.76 0.51
2.8 0.49 2.77 0.49
2.73 0.48 2.61 0.51
2.89 0.48 2.81 0.53
11
2 2.85 0.48 897
3 2.85 0.46 780 ,
n?=.018
4 2.99 0.48 744
2.89 0.48 2421
2 2.75 0.51 889
3 2.71 0.53 779
n?=.050
4 2.98 0.52 745
2.81 0.53 2413
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11

n’=.018
n°=.050 4 2 3
12)
12

1 2.94 0.49 709
2 2.88 0.42 444
3 2.90 0.45 458 1’=.005
4 2.85 0.51 788

2.89 0.48 2399
1 2.85 0.55 704
2 2.77 0.50 445
3 2.81 0.51 457 1°=.003
4 2.79 0.54 786

2.81 0.53 2392
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